LT141/LTM141-A

v,

C € Encoora7
5
3+

6
J 8
U @L-
14

13 = 8 16 17 18
o - -
15
MACHINE TORCH
Bzhit
K /4G
k 318G
26a |
M14X1 26
: » T S
M16X1.5
- 28 Central adaptor
L [ R
27
Technical Data HEARE#H
Current FiEHAR 140 Amp
Duty Cycle f53s 60%
Gas Sff AR =5
Gas Pressure SJE 4.5-5.0 Bar
Gas Flow St 220LPM
Ignition 3|3MA3 HF 5%
Post Flow S{AFERT 140sec. recommended #1405
Standard Length R4 6M

WITH HIGH FREQUENCY

9 10 11
L

v,

HAND TORCH

[ Code “[Ret | Doscripion | Gode [ Rer1| Descripion

IVT6507
IVT6501
IVT6500
IVT6504
IVT6509

MACHINE TORCH

PA1502

PA1500

PA1504

C € Eneoo7a7

Plasma cutting torch LT141/6m 1/4G;% & F Y] #4¢/LT141/6m/1/4G IVT6508
Plasma cutting torch LT141/6m 3/8G;% & F Y] &4¢/LT141/6m/3/8G IVT6502
Plasma cutting torch LT141/6m M14x1;% B F{1£1#/LT141/6m/M14x1 IVT6506 PA1501
Plasma cutting torch LT141/6m M16x1.5;% EF S18I#/LT141/6m/M16x1.5 IVT6560

Plasmacutting torch LT141/6m central adaptor, EF I8IATI4L6m/ 3 R%EL  IVT6505 PA1505

Plasma cutting torch LT141/12m 1/4G;% &F 1 &I#/LT141/12m/1/4G
Plasma cutting torch Lt141/12m 3/8G;% & F 1 #44/LT141/12m/3/8G
Plasma cutting torch Lt141/12m M14x1:% & FH1£I4#/LT141/12m/M14x1
Plasma cutting torch Lt141/12m M16x1.5;% BFH1414#/LT141/12m/M16x1.5
Plasma cutting torch Lt141/12m central adaptor;% BT I &H8ILT141/12m/ Rk

[Code | Rer | Descripion ] Gose [ Ret | Deseripion |

IVT0603
IVT0605
1VT0608
IVT0695
IVT0697

©NO N WN P

24.5

27.1
27.2
27.3
27.4
28
29

PA0103
PA0145

IVT0601
IVT0604

Plasma cutting atuo torch LTM141/6m 1/4G;% EF Bz T4IH/LTMI41/6m/3/86
Plasma cutting atuo torch LTM141/6m 3/8G:% BT S I AI4ILTM141/6m/114G

I % ETAGIAIL IVT0609  PA0104
Plasma cuttingatvotorch LTWL46m central adzplor 5 BFEABATNAL 4455  1VT0691 PA0146
i 5% ETRBNARL 5 IVT0698

Plasma cutting atuo torch LTM141/12m 1/4G;% B B & M&IILTM141/12m/1/4G
Plasma cutting atuo torch LTM141/12m 3/8G;% BT Bz 4IRILTM141/12m/3/8G
Plasma cutting atuo torch LTM141/12m M14x1;% BF B a1 H/LTM141/12mIM14x1
Plasma cutting afuo torch LTML41/12m central adaptor % B F E&TEIRILTMAAL 12m/ B &fEk

Plasma cuttin atuotorch LTM141/12m M16x1.5:% EF % BN 8IRILTMI41/12mIM16x1.5

ISM0068 CV0013 Gouging spacer/LT141-150;3 0 # £ 22 LT141-150
ISM0069 CV0014 Four pointed spacer/LT100-150;/4 s % 42 LT100-150
1ISM0067 cvo0012 Double pointed spacer/LT100-150;# &3 42 LT100-150
ISM0066 CV0011 Spacer spring LT100-150;/ # ¥ LT100-150
1IVS0607 PC0102 Outside nozzle LT14 1M LT141
1SM0084 CV0039 Four point crown shield with insulator/LT101-141;0 & 3 58/# 4 4 3F LT101-141
ISM0078 CVv0023 Spacer for contact cutting/LT101-141;5% 55 3 423 # # % LT101-141
1VS0686 PC0131 Outside nozzle LT141-151;5MEiHE LT141-151
Tip; 0
1IVU0606-11 PD0101-11 Tip ® 1.1mm/ LT101-141;8 8§ ® 1.1mm/LT101-141
1IVU0606-14 PD0101-14 Tip ® 1.4mm/ LT101-141;5 8 ® 1.4mm/ LT101-141
1VU0606-17 PD0101-17 Tip ® 1.7 mm/LT101-141;5 8 & 1.7mm/ LT101-141
1VU0606-19 PD0101-19 Tip ® 1.9mm/ LT101-141;8 8 ® 1.9mm/ LT101-141
IVF0606 PE0101 Diffuser LT101-141;4 5% 8§ LT101-141
IVB0606 PRO101 Electrode Plasma LT101-141;% % F# % LT101-141
1ZNO768 Air tube/LT141-151; % # & LT101-141
ISM0099 Locking nut; i %42 8
ISM0003 CV0008 Contact cutting attachment/LT100-151; % fl ] &1 {R 7 #8 LT100-151
1SM0004 CV0009 Long contact cutting attachment/LT100-151;4 & fi 7] &I 4R 47 #§ LT100-151
Tip; B
1IVU0662-14 PD0117-14 Extended tip ® 1.4mm/LT101-151; /0 MH @ 1.4mm/ LT101-151
1IVU0662-17 PDO0117-17 Extended tip ® 1.7mm/LT101-151; & B ® 1.7mm/ LT101-151
1VU0662-19 PD0117-19 Extended tip ® 1.9mm/LT101-151; M B ® 1.9mm/ LT101-151
1VU0666 PDO111 Extended tip 50A/LT101-151;0 & B 50A/LT101-151
IVF0608 PE0103 Diffuser LT151;43 i 8§ LT151
IVB0661 PRO116 Extended electrode Plasma LT101; /0 % & 7 # 4} LT101
1VZ0655 Plasma torch head LT141;Z B F 4¢3k LT141
IFT0686 EA0131 “0"ring ® 18.77x1.78mm in silicon;O: ® 18.77x1.78mm/AE R
IVF9007 Frontinsulator/LT141-151;# F Al ik 45 4 B LT141-151
1GV0035 Plasma handle manual/A Series/Red;% & F F T F /ARSI &
1HJ0722 Protection part/Plasmal/Yellow, JF £ R 1 HISBEFR/EE
IHQ0070 185.0031 Trigger; 7 %
1HJ0894 Joint/big/new type;Bk 5 EHH/AHT R
Cable assembly;H8 4540
IVN00316060-00 Cable assembly/LT141-151/16MQ/6M CENTER ADAPTOR;FL4448/LT141-151/16MMQ/6M hsRifisk
IVN00316066-00 Cable assembly/LT141-151/16MQ/6M ATT.1/8G; FL4548/L T141-151/16MMQ/6M ATT.1/8G
IVN10316060-00 Cable assembly/LTM141-151/16MQ/6M CENTER ADAPTOR;HL441/L TM141-151/16MMQ/6M Fiskifisk
IVN10316066-00 Cable assembly/LTM141-151/16MQ/6M ATT.1/8G;F4{41/LTM141-151/16MMQ/6M ATT.1/8G
IVN0O699 Cable assembly LT141-151 6m central adaptor;H# #48/LT141-151/6m/s R ifisk
ICG6006 Spanner for Plasma; % & T iR F
1VZ0607 Plasmatorch head LTM141;% & Fit 5 LTM141
IGV0013 W0300144 Fiber glass position tube/LTM; B #148 F4§ LTM
Cable assembly LTM;E 4548 LTM
1275687 Connecting adaptor 1/8G-1/4G 4% #:3% 3£1/8G-1/4G
1ZT5686 Connecting adaptor 1/8G-3/8G 4% #:3%3£1/8G-3/8G
1275688 Connecting adaptor 1/8G-M14x1 ;5% ##3£1/8G-M14x1
1275689 Connecting adaptor 1/8G-M16x 1.5 ## 3% $1/8G-M16x1.5
1ZX0078 FY0023 Central adaptor torch side Plasma 5 pins; % & F & 5§ Sk/5¢t
1SM0077 CV0022 Circle cutting attachment/LT100-151; [ /& ) &I M #£LT100-151




